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Question No. 1
When was 'Antyodaya Anna Yojana' launched?
A)October 2000 B)December 2000
C)August 2001 D)October 2002

HAEY Ieet WIS F Y& HT 75 A7

A)3@FeaT 2000 B)fesR 2000
C)31TEd 2001 D)3aceR 2002
Answer Key : B Your Response : Not Answered

Question No. 2
The ratio between net work for one cycle in a process and displacement volume is-
A)Mean effective pressure B)Temperature ratio

C)Volume ratio D)Pressure ratio

ey uftear 3 o o & o F AR Refa I & Ui 1 = Fer ST §?

A)HATET JHTAT ST B)aTa 3feIdret
C)3madeT 3-17:|:'CI'IT-|' D)ars 3-F:|;CI'IT-|'
Answer Key : A Your Response : A (Correct)

Question No. 3
Calcium oxide and water combine to form calcium hydroxide. This is an example of reaction.
A)Exothermic reaction B)Combination reaction
C)Both combination reaction and exothermic reaction D)Endothermic reaction

HiTH 3Es IR T AaRT HioH gEgiraEs = §1 I8 HFATHAT T 3eTeoT B

A)FsaTardT HfRTHAT (Exothermic reaction) B)@arstr 3fAfHRAT (Combination reaction)

C)adster  H#fAfRAT  (Combination reaction) 3R D)FsArdr Hf&fHAT (Endothermic reaction)
FeATedr AfATRAT (Exothermic reaction) gt

Answer Key : C Your Response : C (Correct)

Question No. 4
To measure which of the following is an ammeter used?
A)Electric current B)Potential difference

C)Resistance D)Electric charge

THeT FT 39ART Ffaf@d # ¥ Fad AT & v BFar siar 82

A)degd arT B)fastaicR
C)ufarier D)dega 3maer
Answer Key : A Your Response : A (Correct)

Question No. 5
With which of the following sports is Black Pearl associated?
A)Snooker B)Soccer
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C)Golf D)Horse Racing

‘sl ger, frafaf@a 7 & e @ @ ddft 87

A)QT-EF{' B)W
C)aew D)gsels
Answer Key : B Your Response : A (Wrong)

Question No. 6

The brain interprets the frequency of an emitted sound called-

A)Wavelength B)Wave velocity

C)Pitch D)Oscillation

AT, 3cafora eafer fr gl A wwswr §, 39 gl STl g1

A)TET e (daeiy) B)d%aT aaT

C)=r D)arelel (hede)

Answer Key : C Your Response : Not Answered

Question No. 7
A ray of light passing through principal focus of a convex lens after refraction will emerge-
A)Through the centre of curvature B)Through the principal focus

C)Parallel to the principal axis D)Without any deviation

ool o & HTT BIhd W IR dTell THIRT 0T, T & ae [

A)ThdT g T g STl B)ATT Wishd & gl Sirwal
C)AT 3787 & FHAMICR graf D)fsar frelt el & fAamorel
Answer Key : C Your Response : B (Wrong)

Question No. 8
The operation involving light and rapid hammering on the weld soon after welding, to relieve stress is called-
A)Straightening B)Peening
C)Annealing D)Heat treatment

yiaad ¥ AFT 7 & AT 3esT & Jia a1g o3 F FAedr FAodl gob o1 ¥ gUls @ deer A B &

g ST §7

A)JUThA TUUT (Straightening) B) dfetar

C)drare:iida (Annealing) D)3FsHT 39T

Answer Key : B Your Response : B (Correct)

Question No. 9

is a weld where the size of the weld is the same as the thickness of the thinner object

joined together.
A)Continuous intermittent fillet weld B)Staggered intermittent fillet weld
C)Full fillet weld D)Chain intermittent fillet weld

g% d¢8 ¢, o6l d¢8 F HHR GG SN drelr FEGIT F ¥ 3w gae awg fr A

HHA 8T gl
A)FETIHH SRAec Thelc dos B) T3S SeXfAeic fhelc des
C)ge fraic des D)deT SeXffsic fhole dos
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Answer Key : C Your Response : Not Answered

Question No. 10

Odisha shares its border with Indian states.

A)Six B)Three

C)Four D)Five

3ifSam #r Her AR Tt & S R

AG: B)det

C)ar D)9r=a

Answer Key : C Your Response : C (Correct)

Question No. 11
The ratio of brake power to indicated power is called-
A)Indicated thermal efficiency B)Relative efficiency

C)Mechanical efficiency D)Volumetric efficiency

3% die AR @f&se afFa (indicated power) ¥ 3rEIUIT F FRAT FET T B2

A)fafése FsATr getar B)3mafare catar
C)git¥eh gafar D)3 AT EaTcl
Answer Key : C Your Response : C (Correct)

Question No. 12

A typical S-N curve for a material is related to failure assessment.

A)Fatigue B)Creep

C)Shear D)Impact

Rl ugr & fav AT S-N T, fwerdr 3ehee (failure assessment) ¥ H&fad gidr #1
A)Hifa (Fatigue) B)fa@dur (Creep)

C)319%9uT (Shear) D)&gg (Impact)

Answer Key : A Your Response : A (Correct)

Question No. 13
Convert 373° C into Kelvin scale.
A)746 K B)846 K
C)546 K D)646 K

373° C & *feast A= & gRafdd +¢

A)746 K B)846 K
C)546 K D)646 K
Answer Key : D Your Response : D (Correct)

Question No. 14
With the increase in atomic number in period-
A)Chemical reactivity decreases B)Metallic character increases
C)Metallic character decreases D)Chemical reactivity increases

forelt 3maet ¥ ] FAE F IR AN W R P §2
A)TraTgfae ifafsandierar & A gidr g B)enfeae aor # gfeg gl 2l
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C)ericaeh 0T & HaAT gIcl B D)rarafee sifdifsarelierar & gig gieh B

Answer Key : C Your Response : C (Correct)

Question No. 15

Galvanization is the process of coating a metal with-

A)Enamel B)Tin

C)Red oxide D)Zinc

HeaeTgone, g W ¥ AT B s ¥

A)sﬁ?q?r B)ﬁ?f

C)¥3 3iieFarss D)5l

Answer Key : D Your Response : D (Correct)

Question No. 16

Nuclides which have same mass number are called-

A)lsotones B)lsotopes

C)lsomers D)lsobars

A oAl WA alel ~qFeilssd __ Feold ¢l

A) ITSHICIT B) s TcIT

C)3TgHIFAT DEIERIEIN

Answer Key : D Your Response : D (Correct)

Question No. 17
With which sport is the term '‘Beamer' associated?
A)Chess B)Football
C)Hockey D)Cricket

AT Ao P Wl ¥ HefdaT 32

A)eradst B)pesier
C)grehr D)fshare
Answer Key : D Your Response : D (Correct)

Question No. 18
A group of stars, which has a recognisable shape is called as-
A)Comet B)Meteoroid
C)Meteorite D)Constellation

aRt T T THg, TR IHAN P & TG AT &, AT Fgellell &7

A)g#FEHhd (Comet) B)3eahraT (Meteoroid)
C)3ear s (Meteorite) D)dRTHSe (Constellation)
Answer Key : D Your Response : A (Wrong)

Question No. 19
Which of the following is difficult without friction?
A)Moving a heavy box from one place to another B)Holding a glass tumbler

C)Playing carrom D)The movement of the door

fAfaf@a # @ =l @ gear ador & e gar AR g2
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A)Th AT S AT Teh 916 § gAY ST o Silelm B)Us famd &l qehgar
C)a#H Welall D)e3arst I afe

Answer Key : B Your Response : B (Correct)

Question No. 20

is known as balanced flame.

A)Oxidising flame B)Carburising flame
C)Neutral flame D)Reducing flame
i d@Jfad ot (deies FH) Fer S B
A) 3RS @t B) @RS foter ot
C)3cr&te ot D)3 ot
Answer Key : C Your Response : C (Correct)

Question No. 21
Which great personality of the world was also known as 'Fuehrer'?
A)Adolf Hitler B)Vladimir Lenin
C)Joseph Stalin D)Napoleon Bonaparte

feg & frw aflg =affac & wER & a9 & o ST T 82

A)37ETew feger B)canfedR aifaer
C)siraw FerfersT D)auiforae siAMaTe
Answer Key : A Your Response : Not Answered

Question No. 22
What is the name of world's first robot citizen created in October 2017?
A)Stella B)Michael
C)Dennis D)Sophia

IFR 2017 & Taffia gfaar & wea Veie AERE 1 a7 = 82

A)Eeel B)#ATSehel
c)faw D)&frar
Answer Key : D Your Response : D (Correct)

Question No. 23
Who is the present CBI Director?
A)Alok Verma B)Rishi Kumar Shukla
C)Sanjay Mathur D)Rakesh Asthana

CBl & ad# e Acers &l &2

INEIGIE L) B) %Y $AR el
C)&sIT AT D)ITher 3TETeT
Answer Key : B Your Response : A (Wrong)

Question No. 24
The rate of change of momentum of an object is-
A)Equal to displacement of the object B)Directly proportional to the resultant force applied

C)Equal to its mass D)Inversely proportional to the resultant force applied
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forer Ris & waer aRader fir X gl 8l

A)TE F TAFATT & R B)@IL &1l alel S T Y 3MTeyanfaish
C)3d%h GeIHAlA & RIaN D)y aRomer g & faudid negarias
Answer Key : B Your Response : B (Correct)

Question No. 25
In 2019, which country launched a new export route to India through the Chabahar Port?
A)Afghanistan B)Pakistan
C)Nepal D)Bhutan

2019 #, &9 Q¥ & FER W€ & TR AR & fAw 7ar i Aet & R 82

A) 3R farEdTeT B) urferedret
C)aurer D)s{ere
Answer Key : A Your Response : A (Correct)

Question No. 26
Which type of paint is manufactured by dissolving asphalt or vegetable bitumen in oil or petroleum?
A)Bituminous paint B)Cement paint
C)Enamel Paint D)Synthetic rubber paint

e PR & YT Fr AT aF a1 9fegd F sPR 91 Teafa Fladr (vegetable bitumen) ®er #X AT

e 872

AR de B)¥ie ¥

C)gadel UT D)Rdfed WX UT

Answer Key : A Your Response : A (Correct)

Question No. 27
Which of the following is a physical property of a metal?
A)Reduction B)Melting point
C)Corrosion D)Oxidation

et 7 & &1, v g & sifasw o 82

A)39ad« (Reduction) B)dTelsATah (Melting point)
C)T&IRuT (Corrosion) D)3iTdIoT (Oxidation)
Answer Key : B Your Response : B (Correct)

Question No. 28
The first Chairperson of the National Green Tribunal(NGT) was-
A)Justice A K Ganguly B)Justice Markandey Katju
C)Justice A.S. Naidu D)Justice Lokeshwar Singh Panta

TR R TIOFOT (NGT) & Tgel e i A7

A)Farareiier A K amagelr B)FATATENRT ARSI FHIcs],
C)=arareier A.S. A/ g D)=aramefrer ey fAg rer
Answer Key : D Your Response : Not Answered

Question No. 29
Which country is the host of ICC Women's T20 World Cup 20207
A)West Indies B)Australia


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

C)England D)India

ICC #Afgelr T20 faRa &9 2020 Fr IS T U 7 9Im?

A)aEe BT B) 3frecferar
C)gals D)#Rd
Answer Key : B Your Response : A (Wrong)

Question No. 30

Which of the following is a ferrous material?

A)Cast iron B)Copper

C)Nickel D)Aluminium

e & & Fia @ vF dllg T §7

A)aerar wigr B)diaT

C)feieher D)veg#hfaras

Answer Key : A Your Response : A (Correct)

Question No. 31
Which of the following materials has the lowest melting point?
A)Tungsten B)Wrought iron
C)Zinc D)Magnesium

T & ¥ g 9 &7 o 9 A QT 2

A)TaresT B)ITe 3Rt
C)Sr&ar D)#HriRs
Answer Key : C Your Response : D (Wrong)

Question No. 32

When was the Gandhi-Irwin pact carried out?

A)1930 B)1931
C)1941 D)1940
A)1930 B)1931
C)1941 D)1940
Answer Key : B Your Response : Not Answered

Question No. 33

The ocean covers percentage of Earth’s surface.

A)71% B)51%

C)91% D)61%

HETERR, & A WAE & wfoerd e A Fa Far g

A)71% B)51%

C)91% D)61%

Answer Key : A Your Response : A (Correct)

Question No. 34
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is a solid state welding process in which coalescence is effected by high-velocity
movement together of the parts to be joined produced by a controlled detonation.
A)Friction welding B)Explosion welding

C)Forged welding D)Diffusion welding

BT HaEAT F T A grelr dfesr ufkar §, 5w AfFFeT (coalescence), A3 ST arer
I v PR TP g@RT 3c9esT UH-TY 3TU-a9 Y g@rT wenfaa gar §1

A)ersor afssar B)faewre afee
C)wiss afesar D)faeRoT afesar
Answer Key : B Your Response : D (Wrong)

Question No. 35
When did India first take part in the Olympic Games?
A)1920 B)1972
C)1974 D)1928

R o Ugell IR el Qalt & o 9T AT ar?

A)1920 B)1972
C)1974 D)1928
Answer Key : A Your Response : D (Wrong)

Question No. 36
A rectangular channel that carries a discharge of 5m3 is 2 m wide. The critical depth of the flow is-
A)1.25m B)1.07 m
C)0.565 m D)0.86 m

5 #Hex 3 F AT A I U IAAHR Ao 2 HieX isT &1 waE i wifasw IS F=r &2

A)1.25 &Y B)1.07 &
C)0.565 #r D)0.86
Answer Key : D Your Response : Not Answered

Question No. 37
Which of the following animals was under category of “critically endangered species” till 2008, later upgraded
to "endangered species"?
A)Panda B)Asiatic Lion
C)Sumatran Rhinoceros D)Indian Tiger

fArfaf@a # & & Seaw #, St 2008 T "R §7 @ v Foniad” Fr AN F o1, g H "I
yenfadr $r Aok F @z fRar e

A)drisT B)ufarmg R
C)gamToT e D)HRAT &
Answer Key : B Your Response : D (Wrong)

Question No. 38
How many zones are there in neutral flame?
A)5 B)3
C)4 D)2
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3griie ot 37 fraet e @ 87

A)5 B)3

C)4 D)2

Answer Key : D Your Response : D (Correct)

Question No. 39
The ratio of the electrode diameter to core diameter is-
A)Weld ratio B)Coating factor
C)Coating efficiency D)Core factor

SIS UM 3R PR AW F AT HI AT Fgl Il 87

A)des Heurd B)oge I[UTeh
C)olYeT gafdr D)®R I[UTeh
Answer Key : B Your Response : D (Wrong)

Question No. 40
Who has been appointed as the Chairman of India’s Lokpal or anti-corruption ombudsman?
A)Mehr Chand Mahajan B)Pinaki Chandra Ghose
C)Bijan Kumar Mukherjee D)Sudhi Ranjan Das

HRA & olihdrel A1 Seerar faAel Sisharer (anti-corruption ombudsman) & 3reder & &7 7 fhay fagea fomar

I §?

A)AEX dg HglolT B)ReATehT dg €Y

C)festa AR @it D)gfer et e

Answer Key : B Your Response : Not Answered

Question No. 41
The important pass that links Kerala with Tamil Nadu is-
A)Thalghat B)Palghat
C)Bhor Ghat D)Aramboli

ST § FlT A1 I F AR F S AT Ageaqer X §7?

A)ATeTdTe B)drerare
C)¥R dIc D)3RiaTelr
Answer Key : B Your Response : Not Answered

Question No. 42
'Swing over carriage' of a lathe refers to which of the following?
A)Diameter of hole through lathe spindle B)Maximum job length that can be held between the
centres
C)Largest diameter of work that will revolve over the D)Height of the centres measured over the lathe bed
lathe saddle

TF WS (AY) F TG 3w $Rer F=faf@a F & raer defia awar 82
A)TRIE () YU & ACIH § B H o B)3tfshad Sifa &I wiars S &al & o e fr S
iETIN
C)FT HI TIH 3T AT S TG (IY) A AFAd W D)TRIG (JFY) 98 T AT shal T FATS
g

N
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Answer Key : C Your Response : C (Correct)

Question No. 43
Which of the following is used as energiser in pack carburising?
A)Barium carbonate B)Sodium phosphate

C)Hydrogen peroxide D)Sodium carbonate

fAfaf@a & ¥ Faer 39T 3 FEfusfeer F vasiser F &7 & BFar smar 2

A)aRT# FrEfae B)WfSTH whIehe
C)gTs3eid WIFarss D)AIfsTe FrEfac
Answer Key : A Your Response : Not Answered

Question No. 44

The binary equivalent of the decimal number 10 is

A)0010 B)10
C)010 D)1010

&R (decimal) HEAT 10 FT SF Jedih gl

A)0010 B)10

C)010 D)1010

Answer Key : D Your Response : D (Correct)

Question No. 45

The crystal structure of a-iron is-

A)Close packed hexagonal B)Body centered cubic

C)Simple cubic D)Face centered cubic

a-3RT Fr foreeer W S g 87

A)FarsT Y9 gaamnae (Close packed hexagonal)  B)f3 &fgd &=eR (Body centered cubic )
C)TrIRuT "aTehR (Simple cubic) D)%elsh hiegd R (Face centered cubic)
Answer Key : B Your Response : B (Correct)

Question No. 46
Which of the following is NOT involved in five M's in production or operations management?
A)Materials B)Motion
C)Men D)Machines

fRf@a & ¥ = 3T I dured Y§UT & 9w M's #§ aifAe [8F 87

A)FHeRTea B) AT
C)A=d D)Aef
Answer Key : B Your Response : B (Correct)

Question No. 47

The ratio of specific heat of air at constant pressure to the specific heat of air at constant volume is equal to-

A)1.41 B)1.89
C)1.01 D)2.2
R g W gar #r AT Fwar ik R Imae | gar i AT 351 &1 3ead TR

giar Bl
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A)1.41 B)1.89
C)1.01 D)2.2
Answer Key : A Your Response : A (Correct)

Question No. 48

A Bell-Coleman cycle is a reversed-

A)Brayton cycle B)Ericsson cycle

C)Carnot cycle D)Atkinson cycle

YT-FreT T, FepiAd gl

A)sicsT Tk B)tReFasT Tk

C)ameife T D)uciFasT Tsh

Answer Key : A Your Response : A (Correct)

Question No. 49
When a structural member is strained due to external imposed loads, the energy stored is called-
A)Yield point B)Strain energy
C)Elastic limit D)Endurance limit

S FI§ WGAcHS AT (structural member) arEd IRRAT HRT Fir goie & RFa & o1ar ¢, o WA I

FoAT Y FAT FgT SNl 87

AT &g B) T Foft

C)Tearedr AT D)&g=T-drAT

Answer Key : B Your Response : B (Correct)

Question No. 50
A circular cylinder partly filled with a liquid is rotated about its axis at w rad/s without spilling. At the walls, the
rise of liquid surface above the original level will be-
A)w? r? / 8g B)w?r/g
C)w?r? / 4g D)w?r? / 2g

el g7 @ M AR UK G S B {ar Ao F w rad/s W AT g8 W OGART AT §1 §art
W, g9 F & A HI TR & 3N g arer gig e gef?

A)w? r2 / 8g B)w2r2 /g
C)w?r? / 4g D)w?r? / 2g
Answer Key : C Your Response : D (Wrong)

Question No. 51
A material which fails suddenly without any plastic deformation is said to be-
A)Ductile material B)Elastic material

C)Plastic material D)Brittle material

ag A, St Rer Bl g RE9or & e fawe g S €, T g 82

A)dstsrelier | (Ductile material) B)9carEy AHIAT (Elastic material)
C)guey |t (Plastic material) D)$9R @l (Brittle material)
Answer Key : D Your Response : D (Correct)

Question No. 52

The term PAN in chemical refers to-
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A)Peroxyacyl nitrogen B)Peroxyacyl nitrolic

C)Peroxyacyl nitrite D)Peroxyacyl nitrate

PAN gfsc &7 T AT = 82

A)RIFdraTSe A18¢istel (Peroxyacyl nitrogen) B)RiFdarge Agcifereh (Peroxyacyl nitrolic)
C)RIFHaTSe Aserse (Peroxyacyl nitrite) D)RIFdase Asee (Peroxyacyl nitrate)
Answer Key : D Your Response : D (Correct)

Question No. 53
MAC address is of:
A)24 bits B)36 bits
C)48 bits D)42 bits

MAC w3§ & aa gl

A)24 fae B)36 foc
C)48 faT D)42 fsc
Answer Key : C Your Response : Not Answered

Question No. 54
The ruby rod used in lasers is made of-
A)Copper B)Silicon
C)Duriron D)Aluminium oxide

ASRE 3 3TN Y AT aren & Us o =i giehr 82

A)drsT B) Raforiar
C)3gdNTeT D)UegfATa# 3ifrarss
Answer Key : D Your Response : D (Correct)

Question No. 55

Which of the following statements is TRUE about anodising?

A)lt is a zinc diffusion process B)It is a process used for making thin phosphate
coating on steel to act as a base or primer for
enamels and paints

C)lt is an oxidising process used for aluminium and D)It is a process of coating of zinc by hot dipping

magnesium articles

TAISETORT & aR 3 ST & FiT AT FU«T T §7?

A)TE T TSl Bugeter ufsar & B)¥g 3iHe 3R YT & foT MR am uEgeR F FT H
P A o T W IR BER PRI aw= &
fore g gfshar &

C)TE Tegiiga 3R #AvlRgs &1 a3 & fav D)E gic BT qary S & duea & gfsrar &

UG JHTerERToT Ufshar
Answer Key : C Your Response : C (Correct)

Question No. 56
The B-H curve for will be a straight line passing through the origin.
A)Silicon steel B)Soft iron
C)AIr D)Hardened steel
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% foT B-H 3% #{@ & IoRaA arelr el 3@ g

R wa B)g T
C)arg D)&oR ST (8T8 TEIeT)
Answer Key : C Your Response : B (Wrong)

Question No. 57

A Mcleod gauge is used to measure-

A)The acidity of a solution B)Vacuum pressure

C)Diameter of fine particles D)Discharge through a river

HAerells I T 3YGET A9 & AT faRar Srar g1

A)fderaeT &1 3rFerdar B)faaTd & (Vacuum pressure)
C)arie &ult &1 a1y D)U&h ET & ATETH & gled arel foldgeT
Answer Key : B Your Response : B (Correct)

Question No. 58
The distance transversed by a particle along the straight line in t seconds is represented by x = t3(t - 6), the
acceleration of the particle will be given by the equation:
A)12t2 - 36 B)4t3 - 18t2
C)ot2 - 18t D)12t2 - 36t

UF FHUT G@NT t Aehs 7 U el Y@r &F a7 A 715 g FF x = t3(t - 6) @ AT IAT §, FOF WO

Ry THIROT G@ERT WERi T STeam?

A)12t2 - 36 B)4t3 - 18t

C)9tz - 18t D)12t2 - 36t

Answer Key : D Your Response : D (Correct)

Question No. 59
In M-L-t-T system, the dimension of thermal diffusivity is-
AWM L2 t1 B)L? t
C)M?L2 T D)L T2

M-L--T womelr &, Fsi faworeiear fr @& «ar &2

AM L2 t7 B)L2 t
Cc)m2.2 T D)L T2
Answer Key : B Your Response : B (Correct)

Question No. 60
If the zero of the venier scale is on the right of zero of the main scale, then the-
A)Zero correction will be negative B)Both zero error will be positive and zero correction
will be negative

C)Zero error will be positive D)Zero error will be negative

I} afelRR 4 T o, e Y & T & a8 AR e @, ar |

A)YT FUR HOTcHS g B)Yra i ueiicash gl AR Yra GUR HUlcHS glam
C)IFa IR gl gref D) 3 Fomeaen gl
Answer Key : B Your Response : B (Correct)

Question No. 61
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Rutherford's alpha particle scattering experiment was responsible for the discovery of-

A)Neutron B)Atomic nucleus

C)Electron D)Proton

TEIPIE & AT FHOT TRl AT & Fea®q $r @ g3l

A)ggiet B)WR&AT] Ao

C)gelergieal D)siteiet

Answer Key : B Your Response : D (Wrong)

Question No. 62
The 3 R principle in waste management involves-
A)Reduce, Reuse, Recycle B)Reduce, Reform, Reset
C)Reduce, Regain, Reuse D)Reduce, Retain, Regain

39RsE Yoot # 3 R [R{gid & «ar afaa §2

A)RsgE, Ryggl, Regad B)Rsga, Rwid, Rde
C)Regw, R, Ryer D)Rsgw, Rea, Raa
Answer Key : A Your Response : A (Correct)

Question No. 63

The range of a projectile is maximum, when the angle of projection is-

A)60° B)45°

C)90° D)30°

YT AT g W 9T T WA 3R giar gl

A)60° B)45°

C)90° D)30°

Answer Key : B Your Response : B (Correct)

Question No. 64

Capillary tube viscometers used for measurement of viscosity are based on-

A)Hagen- Poiseuille equation B)Stoke's Law

C)Chezy equation D)Darcy-Weisbach equation

QAT F AT F AT G FRAF 7l Bepeie & YR T FA HICT g

A)RITeT- TaTeTd FHIRUT (Hagen- Poiseuille equation) B)¥ei® & f@T# (Stoke's Law)

C)Jsir FHIHIUT (Chezy equation) D)srif-dretaes THeuT (Darcy-Weisbach equation)
Answer Key : A Your Response : Not Answered

Question No. 65
For a column of length (L) and flexural rigidity (El) which has one end fixed and other end free, the expression
for critical load is given as-
A)P=1r2EI/L? B)P=4m2E|/L?
C)P=212EI/L2 D)P=T?El/4L2

dar$ (L) AR el Toar (E) arer wF Wi F v, Swe v R R § AR qEa R g 8, Fifs
R & AT F 5 YER ogFd ar ST 82
A)P=12E|/L2 B) P=4T?E|/L2
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C)P=2m?EI/L? D)P=m?El/4L2

Answer Key : D Your Response : D (Correct)

Question No. 66

Which of the following type of layout is suitable for automobile manufacturing concern?

A)Product layout B)Combination layout

C)Process layout D)Fixed position layout

sitevaraTser R F & v PEAfAfRd F ¥ P W A 39T 2

A)3cdTe @33¢ (Product layout) B)&dIStel oI33¢ (Combination layout)
C)ufshar oI3m3¢ (Process layout) D)2 RByfa &I3m3e (Fixed position layout)
Answer Key : A Your Response : B (Wrong)

Question No. 67
In source data entry devices, what is full form of OMR?
A)Open Mark Recognition B)Optical Mark Recognition
C)Optical Message Reader D)Open Message Recognition

Hia ST W Basw #, OMR & qof &7 = 8°?

A)3NTT AR RepfaaeeT B)3fifCerar AT Repfdaters
C)3iiftcaher HueT f=T D)3iusT AT RepfarersT
Answer Key : B Your Response : B (Correct)

Question No. 68

Single point thread cutting tool should ideally have-

A)Negative rake B)Zero rake

C)Normal rake D)Positive rake

fRiarer uige 95 #ET g & ngdia: @ TiRRu

A)HUTcHE I B)eT &

C)aHY & D)treAlcHe ek

Answer Key : B Your Response : D (Wrong)

Question No. 69
The three forces of 100 N, 200 N and 300 N have their lines of action parallel to each other but act in the
opposite directions. These forces are known as-
A)Non-concurrent non-parallel forces B)Coplanar concurrent forces
C)Like parallel forces D)Unlike parallel forces

100 N, 200 N 3R 300 N & cfieT Felt #ir frar YEd v q@t & e €, fg ol Remsit F s s

&1 31 il Y AT FgT AT &2

A)IR-TAdNT IR-gHadt s (Non-concurrent non- B)THTT THdd! s (Coplanar concurrent forces)
parallel forces)

C)TH FAIR o (Like parallel forces) D)3rATT HATATR ol (Unlike parallel forces)

Answer Key : D Your Response : D (Correct)

Question No. 70
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For grade IT 7, value of tolerance is equal to-

(where IT - International Tolerance and i - standard tolerance unit/factor)
A)8i B)16 i
C)24 i D)10 i

IT 7 33 & A, W & 7o & TR T
(ST&T IT - 3ieRisa FRoar 3R | - AT TR 57 / FRF)

A)8 i B)16 i
C)24 i D)10 i
Answer Key : B Your Response : B (Correct)

Question No. 71
Centre of buoyancy is-
A)Centre of gravity of the body B)Centre of mass of displaced fluid
C)Mid point between Centre of gravity and D)The point of intersection of buoyant force and centre

metacentre line of the body

3cCalTaeT he T §7

A @I Teca g B)faTenfid ga & gcIATT FI sheg
C)Tr&careh¥ul &g 3R AT & dra ud #eg g D)3ctaras ao 3R T 1 &g W@ &1 yiafeos g
Answer Key : B Your Response : B (Correct)

Question No. 72
In MS-Excel, what is the shortcut key you can press to Select the entire row?
A)Ctrl + Shift + Space B)Ctrl + Home
C)Ctrl + Space D)Shift + Space

MS-TeRier #, 3T o9 & forw QAiéHe #r (shortcut key) F 39rer qff dfed (row) T 90T F= & AT &

T 8

A)Ctrl + Shift + Space B)Ctrl+Home

C)Ctrl + Space D)Shift + Space

Answer Key : D Your Response : A (Wrong)

Question No. 73

In the number drill series, the largest drill size is .
A)5.613 mm B)5.791 mm

C)5.410 mm D)4.523 mm

AR f3er f@er &, e 937 B HHFR &ar gl

A)5.613 s B)5.791 fae

C)5.410 &A= D)4.523 fA=T

Answer Key : B Your Response : Not Answered

Question No. 74
In Gmail, the email address of the recipients can be entered in field.
A)From B)Message
C)Subject D)To
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Gmail &, 9rcdshdl &r 3 T3 Pres 7 gof (entered) TFaT ST &1
A)From B)Message

C)Subject D)To

Answer Key : D Your Response : D (Correct)

Question No. 75
Moment of inertia of a rectangular section having width (b) and depth (d) about an axis passing through its
Centre of gravity and parallel to the depth (d), is-
A)bd®/36 B)b3d/36
C)b3d/12 D)bd®/12

dteré (b) 3R TEE (d) TN TF HAAFR JRE FI, TR TS (d) F FAR AR 305 Toeahy A o

arelr 38T W STged et AT Al

A)bd3/36 B)b3d/36

C)b3d/12 D)bd%/12

Answer Key : C Your Response : C (Correct)
Question No. 76

The dodo was extinct due to-

A)lInvasion of non-native species B)Over-exploitation of resources

C)Pollution D)Global environmental change

A2 F faeqeT @ F HROT |

A)IR-Ceft gamfadt &1 3mshATT B)&aTeAT T 3fa- gl
C)SgoT D)dfRas gateror # aRade
Answer Key : A Your Response : Not Answered

Question No. 77
Identify the non-renewable source of energy from the following.
A)Fuel cells B)Wind power
C)Wave power D)Coal

T v Rpedl F ¥ FaT F IN-TdolT AT Hr ygaT HI

AT T B)9ael Fall
C)aeT ol D)&rgerr
Answer Key : D Your Response : B (Wrong)

Question No. 78

Rails of railway track are welded by-

A)Thermit welding B)TIG welding

C)Carbon dioxide welding D)SAW

W 3F fr weiat #@ ZaRT 3 AT ST &

A)uffe afegar B)TIG afegar

C)aIeT 31S3iTFarss afesar D)SAW

Answer Key : A Your Response : A (Correct)

Question No. 79

In a thick cylinder pressurized from inside, the hoop stress is maximum at:
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A)The outer radius B)The inner radius

C)Both the inner and the outer radii D)The centre of the wall thickness
3T & gifea AR s &, g7 | W IfFHTH g B

INEIRREERI] B)3raRer f=ar

C)ared 3R 3riaRe Bsaw ger D)&aR # Ales & Fg

Answer Key : B Your Response : B (Correct)

Question No. 80
Which of the following materials has the highest value of Poisson's ratio?
A)Rubber B)Steel
C)Wood D)Concrete

ffaf@a # & e Jard & warEt 3Eqara (Poisson's ratio) &I #eT ITaa# il §7?

AT B)sEard
C)eraar D)ashie
Answer Key : A Your Response : C (Wrong)

Question No. 81

Aeroplane and certain automobile parts are usually made of-

A)Duralumin B)German silver
C)Magnalium D)Aluminium bronze

§a$ e 3R Fo i Tof FRI: _ g@RT e S §

A) SR B)stee Reax

C)H7Afors D)vegAfaaA siter

Answer Key : A Your Response : D (Wrong)

Question No. 82
A shaft of 50 mm diameter and 0.7 m long is subjected to a torque of 1200 Nm. Calculate the shear stress.
A)33.3 MPa B)67.7 MPa
C)93.2 MPa D)48.9 MPa

50 s saw 3R 0.7 ey & e WX 1200 Nm &7 Sarger FRfRa fBFRar srar 81 3reqor sfase

CAE LY

A)33.3 MPa B)67.7 MPa

C)93.2 MPa D)48.9 MPa

Answer Key : D Your Response : D (Correct)

Question No. 83
Which of the following lines is known as the trend line?
A)Least square line B)End point line
C)Terminal line D)Best-fit line

Rfaf@a & ¥ fra ar # &5 5T & § F @ JACr 87
A)elEe TFARR el B)US disc gl
C)efiarer omset D)si¥e-fihe arget

Answer Key : D Your Response : A (Wrong)
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Question No. 84

Which industry flourishes in Nepanagar?

A)Paper Industry B)Chemical Industry

C)Sugar Industry D)Cement Industry

AR # FlT AT 3T TG §?

A)FETS 3T B){HTI 3¢reT

C)elr 3grer D)¥#HT 3crer

Answer Key : A Your Response : Not Answered

Question No. 85

grinding whleel

The above given diagram is surface grinding machine.
A) B)
Horizontal spindle and Horizontal spindle and
rotary table reciprocating table
C) D)
Vertical spindle and Vertical spindle and rotary
reciprocating table table

grinding wt]eel
-

——

FUT T AT A H, HTEA TS =T oM 2
A) B)
Il [I=e AT T2dl caad & )
Q Q—ﬁ“;nﬁ—zr%—q— - a_"’ﬁ'l'
C) o . — f ] D)
EEAE T AT Ete e EaA P E AL
T AT [Eiee v 14T Za
Answer Key : A Your Response : A (Correct)

Question No. 86

Silica is-
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A)A ceramic material B)A metallic alloy

C)An organic polymer D)A composite material
fafersr el

Ats fRfas g B)Us trfeash f@s &g

C)Us Frefash dgelh D)uw A% gerd

Answer Key : A ) Your Response : A (Correct)

Question No. 87
Two forces of magnitude 6N and 10N are inclined at an angle of 60° with each other. The magnitude of the
resultant force is-
A)6 N B)16 N
C)14 N D)5 N

6N 3R 10N IR#ATOT arer & &e, T gy & 60° F FHIT W FRRA g1 IROmHr For F1 IRAOr TN ew FfSw

A)6 N B)16 N
C)14 N D)5 N
Answer Key : C Your Response : C (Correct)

Question No. 88
In an iron-carbon alloy, the content of carbon is stated to be 4.3 percent. Such a cast iron is known as-
A)Hypo eutectic cast iron B)Hyper eutectic cast iron

C)Eutectic cast iron D)Such a nomenclature does not exist

dlg-FraeT P e &, FreieT Fr AT 4.3 GfRIT TAT$ TS T W] Sorar A F ORI FT A 67

A)BTSUT JLFISS Tordl oligT B)&Tsdl JgarefeFeen aefar g
C)geaelss Gordl oligl D)% ATHFNOT (nomenclature) Hislg T8l &
Answer Key : C Your Response : B (Wrong)

Question No. 89
The letter K in the conventional abrasive wheel specified by 51 A 60 K 5 V 05 denotes the-
A)Hardness of the wheel B)Type of abrasive
C)Bond material D)Structure of the wheel

51 A 60 K 5 V 05 g@rT ffése urule srqeds afge & 3mR K = gafar g2

A)afgT $r HeRar B)3198¥eh &I YhR
C)sirs amaly D)gfRT fr T==T
Answer Key : A Your Response : A (Correct)

Question No. 90
Which of the following statements is FALSE about CPM?
A)lt is an activity oriented technique B)lt is mainly used for construction programme
C)lt ignores chance element D)lt is an event oriented technique

CPM & SR # mfaf@d & & &l ar Fu= 3ea g2
A)TE Teh IMAAf 3eA@ dehelleh § B)S@ehT 3UANeT HEA: AT SrshA & fav fhar srar
€
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C)ga# &I "esh (chance element) I eMffer wgl D)IE Uesh TTAT 3HW ceheileh &
ERIREIGH

Answer Key : D Your Response : D (Correct)

Question No. 91
In inventory control theory, the Economic Order Quantity is-
A)Capacity of a warehouse B)Lot size corresponding to break-even analysis

C)Optimum lot size D)Average level of inventory

e fogaor fagia 7, anfde meer Amr = g2

A)fReT e dT &TH T B)seh-3aT f3RaIWUT & HaTd dle 3HR
C)gsead @i 3R D)FT &1 3rEd TR
Answer Key : C Your Response : C (Correct)

Question No. 92
Cutting ratio is the ratio of-
A)Cutting velocity to chip velocity B)Chip velocity to cutting velocity
C)Depth of cut to cutting velocity D)Chip thickness to depth of cut

Felel 3 (Cutting ratio) 313 ¥ fraaT JregureT 872

A)&dsT 397 AR T ger B)RT ger 3R &hcteT der
C)&erd &1 IS IR Fded dar D)RT fr Aers 3R FerT fir TES
Answer Key : B Your Response : A (Wrong)

Question No. 93

Sheradizing is a corrosion resistant coating of on the surface of iron.
A)Copper B)Aluminium

C)Zinc D)Nickel

REEEET g @ JaF | #r FEROT-NEN AT F@A Hr ufhar g

A)eraT B) veg#hfaras

C)is D)feeer

Answer Key : C Your Response : C (Correct)

Question No. 94

For laminar flow through a pipe, the friction factor-

A)Varies linearly with the Reynold's number B)ls exactly equal to the square of Reynold's number

C)ls independent of Reynold's number D)Varies linearly with the inverse of Reynold's number

fore 95T ¥ B AT wedT waTE & fAw, \¥or Ui gl

A)STegd §E&IT & Ty W& ®9 & gRafdd glar g1 B)¥Alesd H&AT & J97 & TheH S|

C)elesd T&AT ¥add gl ¢l DRelosd HEAT & egohAGId HA Wls T &
aRafdd giar gl

Answer Key : D Your Response : D (Correct)

Question No. 95
The Moment of Inertia of a body does not depend upon-
A)Shape of the body B)Mass of the body and its distribution within the body
C)Angular velocity of the body D)Axis of rotation of the body
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s & S3ca gt (Moment of Inertia) 9 R STE e gl

AT & IR B)Ris & gegarT 3R M3 & 3 sas fAawor
C)fiz & HofT & D)Ris T guier a7

Answer Key : C Your Response : C (Correct)

Question No. 96
Which of the following planers are specially designed for cutting the edges of heavy steel plates, pressure
vessels and armoured plates?
A)Double column planer B)Plate planer
C)Open side planer D)Pit type planer

fafaf@a & & Fl7 @ R F AT &7 & 0 e e, g gt AR I3mE et F ARt F Fea F

fore fRemeer fmar amr &2

A)SST FlcTH Tolek B)TalT ToleR

C)3i9e A188 Tolel} D) 2By ek

Answer Key : B Your Response : Not Answered

Question No. 97
is the process used to shine metal, wood, or composites using a cloth wheel impregnated with
cutting compounds or rouges.
A)Honing B)Nitriding
C)Lapping D)Buffing

T AT 8, T 3TAT a1y, dd A1 FAfSe F THEE & fAw fRar Snar g, S s
HUISS AT F1 (rouges) & T 9T AT H9S F 9RA F 39AeT FAr Far 21

A)gIfAT (Honing) B)arsersi3ar (Nitriding)
C)eifder (Lapping) D)afder (Buffing)
Answer Key : D Your Response : D (Correct)

Question No. 98

Chatter in machine tools is caused due to-

A)Transient vibration B)Self-excited vibration
C)Free vibration D)Forced vibration

e oo 7 AR & FROT 3cTe<T giell ¢l

A) &I T B)Ed-3cafoid &aeT

C)Asd FeT D)afora &aet

Answer Key : B Your Response : D (Wrong)

Question No. 99
Negative slack occurs when-
A)Events stick to their schedule B)Dummy activities are large in number

C)Activities lie in critical path D)There is deficiency of resources

FONcHS Tl aF gidr & o9 I

A)TeATE 39l g & 3PS Tt € B)s# arfafafdar st dear # & §
C)afafaferar wifdes gor & grr & D)HATYSAT &I FHAT gl &

Answer Key : D Your Response : D (Correct)
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Question No. 100
is the process used for applying a protective finish to metallic objects.
A)Embossing B)Engraving
C)Lacquering D)Etching

tnfcas a3 W PRaTcAs A oomar & fav sy gftsar 81

A) TSI (Embossing) B)TsTafdar (Engraving)
C)eleraT (Lacquering) D)ufeer (Etching)
Answer Key : C Your Response : C (Correct)

Question No. 101
The output is high if either of the input is high. The above statement repesents _____
A)NAND gate B)OR gate
C)AND gate D)EX-OR gate

Ife 5 ol geqe 3T § o IM3CYE 3T QT T IR FUA & geifar gl

A)NAND are B)OR dc
C)AND 31 D)EX-OR a1
Answer Key : D Your Response : B (Wrong)

Question No. 102
Which of the following theorem states that the algebraic sum of the moments of a system of coplanar forces
about a moment centre
in their plane is equal to the moment of their resultant force about the same moment centre?
A)Varignon's theorem B)Triangle law of forces

C)Lami's theorem D)Parallelogram law of forces

fAefaf@a F & Fla @ @7 Ig saar § & FHGET (coplanar) st ¥ TH AFT & Tl & 39F do H
feua 3meget &e w 3mgeit @ e e, 39 et Fw W 3 aRome g F gt F SRR g 87

A)aRTAT Fr gAT SECICIREE CRERE
C)amet &I 9T DSl &l FACR Tgssr =g
Answer Key : A Your Response : A (Correct)

Question No. 103
Which of the following is known as the Hermaphrodite caliper?
A)lInside caliper B)Odd leg caliper

C)Outside caliper D)Transfer caliper

8 ¥ R srafelal HAW (Hermaphrodite caliper) & ®9 & ST ST 87

A) AT Hforax B)fawsddre Sferar (Odd leg caliper)
C)afgATdr Hfow D)ZEH hferdy
Answer Key : B Your Response : Not Answered

Question No. 104
Which of the following types of medicine is used for treating indigestion?
A)Antacid B)Analgesic
C)Antiseptic D)Antibiotic
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YT & 3TAR & AU 599 § A 9R $r gar w1 39T BFAar siar §?

A)tcifas B) TslTeat ek
C)udriftes D)UEETafes
Answer Key : A Your Response : A (Correct)

Question No. 105
The specific speed of a centrifugal pump is defined as the speed of geometrically similar pump which would -
A)Deliver unit discharge at unit power B)Produce unit power with unit head
C)Deliver unit discharge at unit head D)Require unit power to develop unit head

I9FEr 9q fr (At afa & SfadT 7 § T W 99 fr afd F ® F qRenRa frar s g, S
|
A) T ATFT T Tahieh AdgeT FeTel e B)Uahi® STelel§ & A1 U ATFd Icueed LM

C)uahish STelel¥ W Uehieh fAdegst Uerel aam D)Usieh STl 3cUeed a0 & folv U afdd &
JTaRTHAT gl §
Answer Key : C Your Response : C (Correct)

Question No. 106
The ratio of specific weight of a liquid to the specific weight of pure water at a standard temperature is called-
A)Density of liquid B)Surface tension of liquid
C)Specific gravity of liquid D)Compressibility of liquid

AH a9 W F g F 3m@E aR AR g IE F INWE AR F HAIT FY HRT FT AT 87

A)ad T Yddca B)ad &r EAIGOIC]
C)gd &1 eI Uodca D)aa &I ddsIar
Answer Key : C Your Response : C (Correct)

Question No. 107
Dalton's law states that the total pressure of the mixture of gases is equal to-
A)Sum of the partial pressures of all multiplied by the B)Sum of the partial pressures of all the gases
average atomic weight

C)Average of the partial pressures of all the gases D)Product of the partial pressures of all the gases

steest 1 e Fgar ¢ % A6t & ot 1 Fo qa F T g B
A)Ed TRATT] HR { IOT F Tl IS gardl w1 B)@HT AT & JifE garat Fr A

Zrar
Cywer Adr & 3+ gara & rad D)&sl 3Gl & 3HifAw garg H 3cUTg
Answer Key : B Your Response : B (Correct)
Question No. 108
An email address consists of ______ parts.
A)2 B)3
C)4 D)5

AT TRE A s9I(part) @4 E
A)2 B)3
C)4 D)5

Answer Key : B Your Response : B (Correct)
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Question No. 109

Piston compression rings are made of-

A)Cast iron B)Aluminium

C)Brass D)Spring steel

Reesr Foea Ror frad o= g 87

A)TerdT FiIgT B) Tezh o

C)drder D)feuer ¥t

Answer Key : A Your Response : C (Wrong)

Question No. 110
Stress at any point in a material is defined as-
A)Load per unit time B)Young's modulus of elasticity per unit strain

C)Modulus of rigidity D)Resisting force per unit area

el gerd & el ofr Rig o afdeer & fre v aRenia R sirar 82

A)HR 9fd 1S & athe B)wfd gehr$ faspfdl W TeT T YeArewdr Adih
C)gedr HAiH D)ufeRiel g Ui SIS &Ther
Answer Key : D Your Response : D (Correct)

Question No. 111

When work piece is fed in the same direction as that of the cutter tooth at the point of contact, that type of
milling is known as-

A)Down B)Slot milling
milling
C)Up milling D)Slab milling

S g 9 I U g W HT & gict A G F Az JeroT FRar S @, dF 567 TR i [Afelr e

ST 82

A)zza fafeer B)Taite fAfeeT

C)3 fAfeaT D) Feiw fAfeET

Answer Key : A Your Response : A (Correct)

Question No. 112
In PERT analysis, the possible number of time estimates for activities linking up two events are-
A)Four-time estimates B)Two-time estimates

C)Three-time estimates D)One-time estimate

PERT faRawor &, &Y geam3if I sisar areh sfafafet & fdv woa srqamEt (time estimates) r demmfaa wear

focrer gilr 82

A)IR-S 3feIATT (Four-time estimate) B)al-aR 37eIATT (Two-time estimate)
C)diT-arR 31eATT (Three-time estimate) D)ush-aX 3feIATA (One-time estimate)
Answer Key : C Your Response : C (Correct)

Question No. 113
When a peripheral device needs immediate attention from the operating system, it generates a(n):
A)Spool B)Interrupt
C)Page File D)Stack
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I Rt SR Basd #r AT Red  dohd e FNd Fe f NG A §, aF I TF

_ 3cYeel Ha Bl

A)ETeT B)3exee

C)ITT wIsel D)

Answer Key : B Your Response : B (Correct)

Question No. 114
The pour point of any specific fuel is defined as-
A)The minimum temperature at which it gives B)The temperature at which it freezes
sufficient quantity inflamable vapours to ignite in
contact with the flame
C)The temperature at which fuel catch fire D)The temperature below which it becomes plastic

and will not flow

et RAftse $uer & sera foig =r * &9 F aRenfa fRar S g
A)aE FgATH dd, o W g Sarel & H§9& H H B)dg a9, oW W Ig I ST §
godfald 8l & fou gaicq A= & Sadeeier arsg

9&TeT &l ©
C)ag d, 5 W 4T 31T I & D)ag aM, fS99 X Jg gued @ Sirar & AR agar =&
J
Answer Key : D Your Response : A (Wrong)

Question No. 115
The relationship between tool life (T) and cutting speed (V) m/min is given as-
AWVT=C B)VT"=C
C)V'"T=C D)T"/V=C

T & Sfiaetera (T) AR Faa afd (V) mimin & S & d6U #t F9 vaR qeifr S §?

AVYT = C B)VT" = C
C)V'T = C D)TV = C
Answer Key : B Your Response : B (Correct)

Question No. 116
Which of the following is NOT a stylus probe instrument?
A)Taylor Hobson Talysurf B)Tomlinson surface meter
C)Microscope D)Profilometer

ffaf@a & ¥ la a1 g W AT SE 82

A)TeR glsTsT ok B)eiAfeids by #Hex
C)ATSHIERIT D)9ifthalidTex
Answer Key : C Your Response : C (Correct)

Question No. 117
In ABC analysis, the C items are those which represents-
A)Small percentage of closing inventory value B)Small percentage of total consumption value

C)High percentage of closing inventory value D)High percentage of total consumption

ABC 2a9ur &, C 3msed ar § o # g &= £
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A)FATTE gededl Hed T oler gfaerd B)FeT 3UHIT Hed T oiel gfasrd
C)HAIS Sededl Hed HT 3Td Fiaerd D)l @ad T 3T Yfaerd
Answer Key : B Your Response : C (Wrong)

Question No. 118

Silver article become black on prolonged exposure to air. This is due to formation of-

A)Ag,S03 B)Ag2S

C)Ag20 D)AgsN

oS FAT T §AT H WIS A T W i B Tl TRE Frelr g S §1 Ig gear & del & HROT
gl &1

A)Ag2S03 B)Ag2S

C)Ag20 D)AgsN

Answer Key : B Your Response : B (Correct)

Question No. 119

The value of modulus of elasticity for steel is-

A)2 x 10 5 kgf / cm? B)2 x 10 % kgf / cm?

C)1 x 10 8 kgf / cm? D)0.5 x 10 8 kgf / cm?

e & fav d g & A 1 AW gl

A)2 x 10 5 kgf / cm? B)2 x 10 © kgf / cm?

C)1 x 10 © kgf / cm? D)0.5 x 10 6 kgf / cm?
Answer Key : B Your Response : A (Wrong)

Question No. 120
Which of the following beams is likely to have the point of contraflexure?
A)Beam fixed at both ends B)Cantilever beam

C)Simply supported beam D)Beam with over hangs

ffaf@a & ¥ fFFa 9 & FegwaTeaR & fg (point of contraflexure) g9 $r HeTaeT 82

A& g RIRT W fefeas § B)Freliax &
C)TTURUTA: THATHT §iFT (Simply supported beam) D)3flaX §39 aTel &1 (Beam with over hangs)
Answer Key : D Your Response : D (Correct)

Question No. 121
Which of the following is NOT a part of micrometer?
A)Spindle B)Beam
C)Anvil D)Sleeve

fPrfarad F ¥ Fi9 a1 ASHHE 71 R T8 32

A)fegser B)d#
C)ufeaer D)¥ella
Answer Key : B Your Response : B (Correct)

Question No. 122
A fine grained steel is-
A)More ductile and has a less tendency to distort B)Less tough and has a greater tendency to distort

during heat treatment during heat treatment
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C)More ductile and has a greater tendency to distort D)Less tough and has a less tendency to distort during

during heat treatment

AQA g arell ¥ (fine grained steel)

heat treatment

A) 3T Telereliel (ductile) glar & 3R FsHT 39UR B)&A ¢ gidr § &ar & 3R 3ol 3R & el

& et fasd @ 41 ygfed 3maTFa & g1 §

fagd g &1 wgfea e 3faw orcl &

C)3frs aafetaler (ductile) g § 3R FsAT 3R D)&FA T3 gIaT ¢ 3R 3@ 3u=R & SR fashd g
& o Raga g1t &1 ugfed 3amha 310 gt & 1 vgfed daTad & gl §

Answer Key : A

Which of the following is a scalar quantity?
A)lmpulse
C)Momentum

fFrfaf@d & ¥ Fia @ v i Ry &2
A)3TadT (Impulse)
C)¥asT (Momentum)

Answer Key : D

“Ozone Hole” is a -
A)Hole in the atmosphere

C)Destruction of ozone layer

AargHse # g
C)3iIelid 9 o1 faarer

Answer Key : C

Your Response : D (Wrong)

Question No. 123

B)Torque
D)Energy

B) 3ol (Torque)
D)3siT (Energy)

Your Response : D (Correct)

Question No. 124

B)Hole in the troposphere
D)Hole in the
hydrosphere

B)&fs#se & g
D)SiorAvse 7 g

Your Response : C (Correct)

Question No. 125

What is the standard unit for luminous intensity?

A)Tesla
C)Steradian

HAeE $RE F [T AT 58 7= &2
A)TaT
C)T3a=T

Answer Key : B

B)Candela
D)Radian

B)Fesal
DERE

Your Response : B (Correct)

Question No. 126

Which of the following is used to cut any text or field in MS-Excel?

A)Ctrl + A
C)Ctrl + X

B)Alt + C
D)Ctrl + C

farfaf@a & F fraer 3l MS-tada 7 Ry ¢ ar fies (text or field) & Fc (cut) = ¥ faw fFar

ST &7
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A)Ctrl + A B)Alt + C
C)Ctrl + X D)Ctrl + C
Answer Key : C Your Response : C (Correct)

Question No. 127
Which of the following instruments is used to measure the surface roughness?
A)Profilometer B)Auto-collimator

C)Clinometer D)Optical square

g & G 1AM & AU e & § By Aod=T &1 392er fhar siar g2

AN B)¥ad: THATINRT
C)FelleAlAI D)wehifRIsh ajfarar
Answer Key : A Your Response : A (Correct)

Question No. 128

Bin cards are used in keeping record of-

A)Machine utilization B)Entry/exit time of workers
C)Material storage D)Man power

A FET Fr 3q@er _ F RS @ & BFar S g

AYFfiT & 39T B) sl & ga¥r / e adT
C)am# el & TIAGOT D)ATT 9T’

Answer Key : C Your Response : C (Correct)

Question No. 129

A cantilever beam is one which is-

A)Fixed at one end and free at the other end B)Fixed at both ends
C)Supported at its ends D)Supported at more than two points
FONaT A7 77 Al &, |
AfSasr ve B fhea giar © 3R qau RBw #Fa B)fSrass ast Y frerw gl &
gl &
C)fSa gt RRT X weRT feam Smar & D)o & & 31 gyt W wewr feam Smar §
Answer Key : A Your Response : A (Correct)

Question No. 130
Which of the following parameters indicates the spacing between the abrasive grains of a grinding wheel?
A)Structure B)Both grade and bond
C)Bond D)Grade

Aefaf@a & ¥ #la a1 AEs MEET AT F 39udF &t (abrasive grains) F &g AT F AT FaT 82

A)EITAT B)JE 3R s aiAr
C)atrsT D)IE
Answer Key : A Your Response : A (Correct)

Question No. 131
Which of the following fits is classified under transition fit?
A)Loose fit B)Wringing fit
C)Side fit D)Running fit
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goor W e e @1 gifSrerer fve & sideta aeffpa fomar amar @2

A)eaT Tthe B)Rfafer fihe
C)arss fihe D)Rfaer fhe
Answer Key : B Your Response : B (Correct)

Question No. 132
Bauxite is used for-
A)Manufacture of aluminium B)Refining gold

C)Extracting magnesium D)Making of nuclear fuels

diearse o1 39T fRad faw fBFar smar 2

A)Tegefams & fator & foo B)dler & gikeiysT & fow
C)#v=hfma & fasevor D)WRA §4el & AT & fow
Answer Key : A Your Response : A (Correct)

Question No. 133
Which of the following describes the orificemeter?
A)A pipe has contra, throat and divergent portion B)A tunnel section with a large reservoir
C)A pipe has a circular plate with a hole inside it D)A large tank with a small hole at one of its ends

farafaf@a & & Fia ar 3MRaeer F Joia ==ar 82
A)T& 93T H @iel, Uic 3R fAaceT arem 9mT 81T €1 B)Us 93 RSIdfay & A1y U Tolol Al i &l
C)U& WISy & 3eT U B¢ & HY Tdh JedlbR Colc D) 37 & fas th Ay w Us oier &1 8¢ gial
g &l el
Answer Key : C Your Response : C (Correct)
Question No. 134
The process of removing dull grains in order to make grinding wheel sharp is known as-
A)Trueing B)Loading
C)Dressing D)Glazing

3quds 9T (grinding wheel) F a7 S & AT Hg AT FY gt AT UBHAT T FAT Tl AT &2

A)ggaT B)eif3ar
C)sfr D)7eifSiar
Answer Key : C Your Response : C (Correct)

Question No. 135

The size of a planer is generally specified by-

A)Table size and height of cross rail B)Stroke length

C)Table size D)Number of tools provided

& (planer) & 3R WHARIG: _____ &arT Af&se frar simar &1

A)TST & PR AR HIF ¥ AT FA8 B)Eel® fI oieTs

C)cadl & AR D)vere fhu arv 3feRT $r TEar
Answer Key : B Your Response : A (Wrong)

Question No. 136

Euler's formula is not valid for mild steel column when slenderness ratio is-
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A)Less than 80 B)More than 80

C)More than 120 D)More than 30

SIS AT 9 (slenderness ratio) __ @l §, o g $EIT & T & AT JoR &1 Y7 AT AL gar
gl

A)80 & HHA B)80 ¥ 318

C)120 & xfas+ D)30 & 3ifdes

Answer Key : A Your Response : A (Correct)

Question No. 137
Which of the following points is NOT found on iron-carbon equilibrium diagram?
A)Peritectic point B)Curie point
C)Eutectic point D)Eutectoid point

feafaf@a & & =l @ dige dig-Fee dereT 3M@ F Al 7@ ar 87

A)ufeiFes dige B)agd dise
C)geTFea drge D)geereiss dise
Answer Key : B Your Response : B (Correct)

Question No. 138
If one mole of carbon atoms weighs 12 gram, what is the mass in gram of 1 atom of carbon?
A)3 x 1023 g B)1.99 x 1023 g
C)2x10%2g D)1 x 1023 g

IR v AT FeT AR F AR 12 A &, A FGeT & TF WA F GIAGT A 7 R gham?

A)3 x 1028 g B)1.99 x 1023 g
C)2 x 1022 g D)1 x 10 g
Answer Key : B Your Response : B (Correct)

Question No. 139
Which of the following is NOT a world heritage site?
A)Kaziranga National Park B)Periyar National Park
C)Manas Wildlife Sanctuary D)Nanda Devi National Park

fAfaf@a # & #ia fea A e (world heritage site) =1éT 872

A)FHTSRET T 3T B) IR TsET 3¢aTeT
C)AH Fegelld IR0 D)siar ¢dt IS 36T
Answer Key : B Your Response : Not Answered

Question No. 140

Minati Mishra is associated with-

A)Odissi B)Manipuri
C)Bharatanatyam D)Kathakali
fAenfar s frad wefta &2

A) 3nfedr B)AfoTqdr
C)IRTAATCIH D)&uehell

Answer Key : A Your Response : A (Correct)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Question No. 141
The thermal efficiency of a standard Otto cycle for a compression ratio of 5.5 will be-
A)75% B)100%
C)25% D)50%

5.5 ¥ WS AT & foT AT Y (Otto) = Hr ST gatar Far grefi?

A)75% B)100%
C)25% D)50%
Answer Key : D Your Response : D (Correct)

Question No. 142

In P-system of inventory control-

A)Reorder point is fixed B)Time between orders is constant
C)Production rate remains constant D)Order quantity remains constant

s F & P-Rwew #-

A)R3TST dige frerg grar B B)3isT & &I o1 THT &R (3r9d) T@T 2l
C)3curest &¥ R T Bl D)3 T AT R (3r@el) et &
Answer Key : B Your Response : B (Correct)

Question No. 143

is the process of removing exhaust gases from the cylinder after combustion and replenishing

the cylinder with fresh air.
A)Supercharging B)Knocking
C)Detonation D)Scavenging

g ¥ 91 [Qeist ¥ wolike A4t o AFresr 3R Rdst 7 aer gar s F 9fmar 1 a1 Far AT 87

A)guETioia (Supercharging) B)379¥hic (Knocking)
C)3if&Fmiet (Detonation) D)379ATSI=T (Scavenging)
Answer Key : D Your Response : D (Correct)

Question No. 144
In a differential manometer, a head of 0.5 m of fluid A in limb 1 is found to balance a head of 0.3 m of fluid B
in limb 2. The atmospheric pressure is 760 mm of mercury. The ratio of specific gravities of A to B is-
A)0.25 B)2
C)0.6 D)4

F BT Al , R 2 A @B F o3 AR F e M aglaFa F R R 1 A @A F
0.5 #eX 1 FerMS U ST §1 AGHSNT arw, 760 A aR F g9 & s §1 A 3K B F IMBF v

&1 3T A HfSre

A)0.25 B)2

C)0.6 D)4

Answer Key : C Your Response : C (Correct)

Question No. 145
Darcy Weisbach equation is used to find loss of head due to -
A)Friction B)Sudden contraction
C)Sudden enlargement D)Obstruction
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ST Aot WHIOT T FAeT #r gote W g STy g1 A1 e & v B s g
A)gor B)3Taleish Heplal

C)3dTeTsh JaR D)%ehrdc

Answer Key : A Your Response : A (Correct)

Question No. 146

In a Capstan lathe, turret is mounted on-

A)Headstock B)Copy turning attachment

C)Compound slide D)A short slide of ram sliding on the saddle

Rl oresT Ay 7, QT (turret) Y 9T ST AT

A)gsEeldh B)a&idY efefer 3reweie

C)&UT3s TEs D)HST T TeAS8 FXA aTall Y& T Teh BT Tollss
Answer Key : D Your Response : A (Wrong)

Question No. 147
Which of the following is an example of chlorinated hydrocarbon insecticide?
A)Oxamyl B)Fenthion
C)Toxaphene D)Allethrin

fArfaf@a # @ e a1 FEgFRT PP PIcaARF FHT 30T §?

A) 3iteFari&er (Oxamyl) B)%aAfdarsT (Fenthion)
C)efFarhid (Toxaphene) D)3ifefdsT (Allethrin)
Answer Key : C Your Response : Not Answered

Question No. 148
During manufacture of cement, the handling of lime stone is done by-
A)Bucket conveyor B)Belt conveyor
C)Fork lift crane D)Overhead crane

e & fAAtr & dhreT g9 & g Fir gsfoler fFas g@nr #r e 372

A)FFHe FrdX B)doc FeddX
C)wish T shet D)31IaRgs shef
Answer Key : B Your Response : B (Correct)

Question No. 149

Impulse gives a measure of the product of-

A)Force and velocity B)Force and time

C)Force and displacement D)Mass and acceleration
3maeT & OGS F AT &l Bl

A)Ser 3R g B)ger 3R ¥HT

C)ver 3R fawamge D)geadTe 3R cavor

Answer Key : B Your Response : B (Correct)

Question No. 150
Which of the following is an example of popular antivirus?
A)Bitdefender B)Worms
C)Sasser D)Encrypted virus
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AT & O Sl ar wfed T&arRyT F1 3T §7
A)fSefsthst B)awd

C)IT D)sfespees a=—RT (Encrypted virus)

Answer Key : A

Your Response : A (Correct)
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